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QUESTION 1

Identify two fallout scenarios that originate during communication between OSM and another system and that could
simply be resolved by retrying the failed communication.

A. failures caused due to network outage

B. failures caused due to down time in an external system

C. failures due to inconsistencies in product catalog configuration

D. failures that originate due to inconsistent data provided by northbound systems
E. failures that originate due to inconsistent data returned from southbound systems

Correct Answer: CD

QUESTION 2

Which two OSM components are deployed in Oracle WebLogic Server?
A. OSM server

B. web clients

C. runtime database

D. Design Studio IDE

E. provisioning framework

Correct Answer:. AB

QUESTION 3

You implement a dependency between two functions in a product specification. What is the default configuration you
expect in this dependency?

A. It would have a wait condition with a wait delay configuration.

B. It would have a wait condition based on a data change notification.
C. It would use a product specification dependency.

D. It would use an order item dependency.

E. It would use a property correlation dependency.

Correct Answer: D

Reference https://docs.oracle.com/cd/E49311_01/doc.724/e41610/ orchs_depends_items.htm#DSCOM273
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QUESTION 4

Why would you use the following XPath expression while defining a behavior for a task?

instance (“List”) /Element/Name

A. to apply a condition to the behavior

B. to access data from a database

C. to include complex logic in the behavior
D. to get a list of values from the task data
E. to launch a parallel automated task

Correct Answer: D

QUESTION 5

When submitting test orders to OSM from Design Studio, you realize that the interface is not responding. What could be
the reason?

A. The CreateOrder web service operation is not working.

B. The CreateOrderBySpecification web service operation is not working.
C. The database connection is not set.

D. The ReceiveOrder XML API operation is not working.

E. The Task Web client Create option is not working.

Correct Answer: A
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